Financial, Treasury and Forex Management 373

Roll No.....................
Time allowed : 3 hours Maximum marks : 100
Total number of questions : 7 Total number of printed pages : 8

NOTE : 1. Answer FIVE Questions including Question No.l which is compulsory. All
working notes should be shown distinctly.

2. Tables showing the present value of X1 and the present value of an annuity of
X1 for 15 years are annexed.

1. Comment on any four of the following :
(i) NPV decision rule does not hold true in the situation of capital rationing.
(i) Risk is always associated with receivables.

(iii) The strategy for effective cash management in any firm has a core component of operating
cycle.

(iv) Treasury function is supplemental and complemental to the finance function in a firm.
(v) Capital Asset Pricing Model (CAPM) is a tool to work out cost of equity.
(5 marks each)

2. (a) During a 5 year period, the relevant results for the aggregate market are that the risk-
free rate (r) is 8% and the return on market (r_) is 14%. For that period, the results
of five portfolio managers are as follows :

Portfolio Actual Average Beta ()
Manager Return (%)
A 13 0.80
B 14 1.05
C 17 1.25
D 13 0.90
E 15 0.95

Using CAPM model, you are required to —

(i) Calculate the expected rate of return for each portfolio manager and compare the
actual returns with the expected returns; and

(i) Based upon your calculations, select the portfolio manager with the best
performance.

(6 marks)
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(b) You are given the following information :

Spot rate (1 US $) = 48.0123
180 days forward rate (1 US $) = 48.8190
Annualised interest rate for 6 months (3) = 12%
Annualised interest rate for 6 months (US $) = 8%

Is there any arbitrage possibility ? If yes, how can an arbitrageur take advantage of
the situation if he is willing to borrow ¥ 40,00,000 or US $83,312 ?

(4 marks)
(¢) The following information is related to Sunrise Ltd. :
3
Sales 4,00,000
Less : Variable expenses 35% 1,40,000
Contribution 2.60,000
Less : Fixed expenses 1,80,000
EBIT 80,000
Less: Interest 10,000

Taxable income 70,000
You are required to submit the following to management of the company :

(i) What percentage will taxable income increase, if the sales increase by 6% ? Use
combined leverage.

(2 marks)

(i) What percentage will EBIT increase, if there is a 10% increase in sales ? Use
operating leverage.

(1 mark)

(i) What percentage will taxable income increase, if EBIT increases by 6% ? Use
financial leverage.

(1 mark)

(d) Priyanka Ltd. requires 2,000 units of an item annually. The cost of the item per unit
is ¥ 20 and ordering cost is I 50 per order. If the carrying cost is 25% of the cost
of item, find the optimum lot size.

If the company purchases in lots of 1,000 or more units of the item, it gets a rebate
of 3%. Should the company accept the offer ?

(6 marks)
1/2012/FTFM Contd ........
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Maxwell Ltd. is operating in electronic equipments development and its sales and earnings
before interest and taxes for the current year were < 70,00,000 and < 18,00,000
respectively. During the year, interest expense was X 16,000 and preference dividend
was < 20,000. These fixed charges are expected to continue for the next year. The
company is thinking to diversify its operations which will require ¥ 7,00,000 and is
expected to increase EBIT by ¥ 4,00,000 to ¥ 22,00,000.
The company has the following three financing alternatives under its consideration :
Alternative—1 : Issue 10,000 equity shares at I 70 per share. The company has currently
80,000 shares of common stock outstanding.
Alternative-2 : Issue X 7,00,000, 15 years 15% debentures. Sinking fund payments on
these debentures will commence after 15 years.
Alternative-3 : Issue I 7,00,000, 14% preference shares.
You are required to calculate —
(i) The EPS at the expected earnings before interest and taxes level of ¥ 22,00,000
for each financing alternative.
(i) The equivalency level of earnings before interest and taxes between the debt and
common stock alternatives.
(i) The equivalency level of earnings before interest and taxes between the preference
shares and common stock alternatives.

Assume 30% income-tax rate.
(12 marks)

Identify the profit or loss (ignoring dealing cost and interest) in each of the following
cases :
(i) A put option with exercise price of ¥ 250 is bought for a premium of I 42. The
price of underlying share is ¥ 189 at the expiry date.
(ii)) A put option with an exercise price of ¥ 300 is written for a premium of I 57.
The price of the underlying share is I 314 at the expiry date.
(4 marks)

Sawan Ltd. currently has sales of ¥ 30,00,000 with an average collection period of two
months. At present, no discounts are offered to the customers. The management of
the company is thinking to allow a discount of 2% on cash sales which will result as
under :

(i) The average collection period would reduce to one month.
(i) 50% of customers would take advantage of 2% discount.
The company would normally require a 25% return on its investment.
Advise the management whether to extend the discount on cash sales.
(4 marks)
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4. Distinguish between any four of the following :
(i) ‘Financial distress’ and ‘insolvency’.
(ii)) ‘Open ended mutual funds’ and ‘close ended mutual funds’.
(i) ‘Accounting exposure’ and ‘economic exposure’.

(iv) ‘Semi-strong form of efficient market hypothesis’ and ‘strong form of efficient market
hypothesis’.

(v) ‘Factoring’ and ‘bill discounting’.

(5 marks each)

5. (a) Vivek is holding 1,000 shares of Right Choice Ltd. The current rate of dividend paid
by the company is ¥ 5 per share and the share is being sold at ¥ 50 per share in the
market. However, several factors are likely to change during the course of the year
as indicated below :

Existing Revised
Risk free rate 14% 12%
Market risk premium 8% 6%
Beta (B) value 1.42 1.27
Expected growth rate 6% 10%

In view of above factors, whether Vivek should buy, hold or sell the shares and why ?

(6 marks)

(b) Ruta Max Ltd. and Buta Max Ltd. operate in the same risk class and are identical in
all respect except that Ruta Max Ltd. uses debt financing while Buta Max Ltd. does
not opt for debt financing.

Ruta Max Ltd. has ¥ 25,00,000 debentures carrying coupon rate of 10%. Both the
companies earn 20% profit before interest and taxes on their total assets of I 50 lakh.
Assume perfect capital markets and rational investors and so on. The capitalisation rate
for an all equity company is 15%. The corporate tax rate is 30%.

You are required to compute the value of both companies according to net income (NI)
and net operating income (NOI) approach.

(8 marks)
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(¢) Touch Wood Ltd. has a portfolio of capital projects which yield an average expected
rate of return of 15% per annum. This return is subject to risk and this is estimated
as a standard deviation of probabilities of expected returns of 2.5%. The risk free rate
of interest is 6% per annum. Three projects have come up for consideration by Board
of directors and these are designated as project A, B and C. Details of the estimates
made for them appear below :

Project
A B C
Expected return (%) 12 10 8
Risk (standard deviation of
probability distribution) 1% 1.4% 2.4%
Co-efficient of correlation of project
returns with portfolio returns +0.58 +0.94 - 0.1

Determine in each case whether you would recommend acceptance of the project. Since
all the three projects promise a yield less than the expected on the current portfolio,
one member of Board of directors asks why they should be considered at all. How
would you answer him ?

(6 marks)

6. Ice Decor Ltd. sells goods at a uniform rate of gross profit of 20% on sales including
depreciation as part of cost of production. Its annual figures for the current year are as under :

¢
Sales (at 2 months’ credit) 24.00,000
Materials consumed (suppliers’ credit 2 months) 6,00,000
Wages paid (monthly at the beginning of the subsequent month) 4,80,000

Manufacturing expenses (cash expenses are paid — one month in arrear) 6,00,000
Administration expenses (cash expenses are paid — one month in arrear) 1,50,000

Sales promotion expenses (paid quarterly in advance) 75,000

The company keeps one month stock each of raw materials and finished goods. A minimum
cash balance of ¥ 80,000 is always kept. The company wants to adopt a 10% safety margin
in the maintenance of working capital. The company has no work-in-progress.

Find out the requirement of working capital of the company on cash cost basis.

(20 marks)
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7.  Write notes on any four of the following :
(i) External commercial borrowings
(i) Financial viability of a project
(iii)) Counter party risk
(iv) Optimal capital structure
(v) Zero coupon convertible notes.

(5 marks each)

(@]
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